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Answer the following questions s AGY) Wi e ol

1- Choose (A) or (B), then replace the (@ () 91 (1) oot guadt dni S50 -\

statement with a suitable scientific term:
(A) Eon starts with the beginning of earth
history till 542 million years ago.

(B) The rock mass which found above the
fault plane.

2- Choose (A) or (B), then explain:
(A) Presence of calcite minerals along the
fault plane.
(B) Mesozoic Erais called Era of Dinosaurs
(Reptiles).

3- Choose (A) or (B), and answer the question:
What would happen when .....?

(A) The temperature of the medium where
amphibians live decreased

(B) Fish wastes Decompose
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4- Choose the correct answer:
Mica schist is a metamorphic rock formed
due to .......

® @0 @ &

Subjecting sandstone to high
temperature.

Subjecting limestone to high
temperature.

Subjecting mudstone to temperature
and pressure.

Subjecting granite to temperature and
pressure.

5- Justify:

while quartz cannot.

6- Choose the correct answer:

®0 @ &

Using chemical fertilizers resultin ......

Deterioration of the soil and make it
liable to erosion.

Giving the soil desirable physical
characteristics.

Activating living organisms in the soil.

Involving it in the food chain.
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7- Mention the scientist who ........
1** : Suggested the continental drift theory
2" : Developed a scale to measure the

magnitude of the earthquake.

8- Compare between spits and barriers in

term of definition.
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9- Study the figure and answer the questions: | :coi Slolel M @u I 30 -4

vegetation

absorbed

Ly i) plusl)
llght 4-.%-:"94.4 permenant | Temporary Desert
4 i) iyl
energy dualiaa
—_

Ecosystem
&5 aall

dissipated .
— > 4Lk
thermal R—U‘ A
non living factors energy A puiia
Qal) e Jalsnd

high temperature at day time.
coldness at night, storms.
high light intensity, water
scarcity.
) e Bayadll 5 ) jall
50 Ciaal 2l 558 Sl 33 g
slall 52~ Adle el

1** : What do 1 & 2 represent?

(Y N) g IS Jies ke : ¥
2" : Why 3 is considered guard of nature?
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10- Choose (A) or (B), and answer the question:
Replace the statement with a suitable
scientific term:

(A) Zone 1n soil rich in organic matter.

(B) Gravel and granules roll on the river
bottom in the direction of water current.

11- Choose the correct answer:
The chemical composition of calcite is

(@)  Sodium sulphate.
(b)  Sodium carbonate.
(©)  Calcium sulphate.
(@  Calcium carbonate.

12- Justify:

Gabbro does not contain quartz.
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13- Mention the criteria to recognize 000 (Sl =01 B giid! ,S3f -\ Y
anticlinal fold Aaioned| OLdal le Ca
14- What would happen when .....?7 §oes e Sty 13le -\ €
quartz exposed to high energy radiations | 48Uat 55,1953 das (o pas
Adle eladl
15- Mention the importance of the roots of 1 dtedi 430 -\ 0

desert plants that extend horizontally o o L] a3 301 5 giimnd

within the soil. . -
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16- Choose (A) or (B), then answer the question

(A) Compare between coal and natural gas
in terms of thermal value and extraction

costs.

(B) Compare between renewable resources

and non-renewable resources.
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17- Study the figure and answer the question:
15t : What do strips in the figure represent?

2nd - Which strips are the oldest relative to
the ocean ridge?
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18- Give an example for each of the following: ) js.t ¥lie ,S31 -1A

(A) Minute marine plants live floating on | ole dudls (bl &y Sliko (1)

water surface. R
(B) Wild desert animal with large ears. 4 S9lpis i yian g ()
23S O

(C) Herbivorous desert animal use alternative | weie J-S1 g9l oo Ol (z)
sources to overcome the rarity of water. Tl Sb 1) e

eladt Sy e

(D) Living organisms form spores in case of | puai Loctie @iy (3955 SLSIS (3)
unsuitable temperature. A il daw gl Byl
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19- Choose (A) or (B), then Replace the
statement with suitable scientific term:

(A) Fossils of colonial marine organisms
live in warm clear marine environment.

(B) Movement occurs under the effect of
tensile force (tension) and cause plates
to move away from each other.

1@ (@) 9l (1) o daudt i 25t 214
il a3l ol
OIS g pomy S guond Gy (1)
JAB31 ) olce g A1y Ay poma
lgie i s 598 (pe L 48 ()
Y158 lias S S5

20- Choose (A) or (B), then define.....
(A) Photoperiodism
(B) Tropism

12 (20) 9 (1) o uadt i i3m0 - Y ¢
18 e
LHgattcdigt (1)
£l ¥ (o)

21- Choose (A) or (B), then answer the question
What would happen when ...... 2

(A) Ground water with dissolved CO,
passed through a limestone rocks.

(B) Changing water level during flood
episodes.
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22- Choose the correct answer: s Asvoual) Al W) ) - VY
which of the following figure represents | ;e s aa¥i JI ¥ e s
joint and unconformity §38153 poic plawg Juold

2 /1 1 7 & 1 / 1 1 [ 2
3 / 2 2 / 2 2 / 2 2 / 3
a / 3 3/ 3 a / 4 3/ 5
5 / 4 a / 4 5 / 5 a / 6

23- Mention the importance of trees in the s dtad HS3) ~YY
industrial areas. e Ll Ghaliall 3 Lo ¥

24- Interpret: s ywd -YE
Fishing shrimps is preferable at night S 1 s (Jia
time. i
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25- Study the figure and answer the questions s | Elalel (U @yt (o - YO

(A) What do 3 & 4 represent? §(E ) o js o I3Le :;rjt
(B) Which of the two wells is better to get | Jswas! (ySan pi &1 (o Lols
the water? Whyo 9‘5\-&33 Selald Sl
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26- Study the figure, then write down the @D JSAM uyd) =¥
labels corresponding to the numbers: B L) a0 g L1

melting — - weathering Pressure

)LG-AA:'! duguw) y9eo @ A pal @ dars Igneous
@ <«— |sedimentary | <——— @ -— <«—|  rocks

rocks > | At see
Heat

A)lis...... ‘ Jiaz (V)
B)2is ....... ‘ Jiez (V)
(©)3is ... | e (1)
D) 4is ........ | Jies (8)
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27- Compare between streak and fracture | ;uSatig (Zialt s Gyld -YV
in terms of definition and the category | ; _ ..y gty i (34
of physical property they belong. B | )

Ayl

streak (yios~el!

fracture ,uSol!

definition

Cay pad

physical
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28- Choose (A) or (B), then Mention the .....: 10 (@) 9 (1) o 3uadt i 2501 - YA
xz,.wb;‘)s'.ﬂ

BY| RN Jb_'a;‘ - (;i)

Logien L1g 3t @B g Aol

(A) Importance of knowing the length of
crystallographic axes and the axial angle.

(B) Importance of using streak plate. bial 78 aliut (o)
29- Justify: sdle -Y4
The continental crust never subducted 8y} | oo Ay yLa013 p 2B | qukiS Y
below oceanic one. Zlasl dids 3 Adamal!
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30- Choose the correct answer: s Aovoual) Wl W ) -V
. . aee €.
Which of the following figures did form |~ &L Jlsa¥l (s
by differential erosion? Slulie Lisd

@ 1&2 oy @
® 1&3 r O
© 2&3 ry &
@ 2&4 tn O

31- Replace the statement with a suitable | zllametly 5t Judiw! -¥)

scientific term: 1w Lial | alal!
Chemical industries depend on petroleum | b gSe Lgwlul ddileess Oleliwo
derivatives. Jgpid ! Olaidoe o
32- Discuss the relation between salinity 10 A3Vl oy -YY
concentration, evaporation and rainfall. |\ 4 2., 50510;5.05,3
olae¥ i dogiug yadlddacy
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33- What would happen as a result of
accumulation of deposits in the Delta
cone and behind the high dam?

Seeennn A Crdony 13Le - V¥

Jajjéq_ﬁgﬁb‘hl_u‘jj_npﬁ‘)ﬁ
."Jm‘_\.adh_b.\éuj v g

34- Choose (A) or (B), then answer the question
Compare between:

(A) Granite and microgranite in terms of

texture and place of crystallization.

(B) Breccia and volcanic breccia.

() 91 (1) a1 3uudt i S350 Y8
zuqn‘pﬁ
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35- Read the statement and answer the questions
“Occurrence of Kkaolinite associated
with Igneous rock”

(A) Name the Igneous rock.
(B) Explain the geologic process.

36- Study the figure and Answer the questions
(A) Structures B & C are ......
(B) Why did A & D form?

e mammals

2 gaall OLa Trilobite fossils

Ol gL (alas 399 -0
-50b pEve (e ATy
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37- Choose (A) or (B), then answer the
question:
(A) Mention the mineral with golden color
and black streak.
(B) Mention the mineral with non-metallic

luster and highest hardness.

10 (@) 9 (1) o 3uadt i 2301 YV
1 Odael! @uwl HS3I

RYWIPT-REDYIENS PP RReRY ()

FS1g g8 ¥ ddyp Haas ()
83w Oalaatl

38- Replace the statement with a suitable | zllamally 5yt Judiw! -¥A

scientific term:

The amount of light penetrates sea water

zg.wLw‘gda“
.P*J‘a@@;&eg;ﬁ';-}«bﬂl”ms

39- Choose the correct answer:
Tropical forests are characterized by ....

High temperature and low humidity.
High temperature and high humidity.

Decreased light and decreased living
organisms.

® © @ 6

High light intensity and crowded living
organisms.

t dovouall Dl Wi 2Bl -4
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40- Choose the correct answer s Asvoual) Wala W ) -
Gypsum and halite are deposits of ...... e gy et g i | i
(@)  Rivers e (D
(b)  Saline lakes RVRTRIICT IR TR (@)
(©)  Fresh water lakes Al ot ()
(@  Ground water skt ()
41- What would happen when .....? Seeeee die Sty 13ke €Y

Hanging wall is moving upward along the oY Sl gla 301 ) yinaal| A0S S
fault plane with respect to the footwall. T
oS3 (6 gn ! And (gl f JSIL W jlae

42- Justify: sdle -£Y
The work of torrents is more clear in the | 4 guall o 33 guand! Joad! pglay
desert. &1yl B Linlg
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43- Choose (A) or (B), then answer the question: | :@3 () gi (1) o1 5ud! i S350 -¢Y
What is the difference between? 10 (a1 Le
(A) Formation of the grand canyon & Il 5Lt qutiaat 3 9 31 3L (1)

formation of mountain chains of the
Alps in central Europe (concerning:
rate of movement-its results). (lendlgng @Syl Juas
(B) Primary seismic Waves & secondary | “&59¥! &d 33531 Slagatt ()
seismic waves L LI AT 13 531 Ol gl

s (pa) Ligygl dawg B Y

44- Mention two ways to solve the problem | s o zMa¥ ;.0Gs 3l 5-S31 - €€
of spreading urbanization o el i 381
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45- Study the figure then answer the questions

ALY (e conl el S (uyal -€0

laccolith

(A) Structure (1) i1s
(B) Structure (2) is

(C) Name the rock and its type in the zone

%
VPP
SREREEY

........

between laccolith and limestone.

(D) Name the rock and its type in the zone

between laccolith and sandstone.

g-‘-‘) >
—— sandstone

L Limestone
S p>

caaal
R
Y

S(1) By oS 301 Lo + ¥

3(Y) iy cuS A Lo Lol
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U 39 sl ol gl ol
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